MNMC

| L L L
Index= 1.23

R B
1 1= 3.2 days
E 757 t=0.33 yr ratio- 67. 49
£ MS_diff= 0.1
GE) i
o 207 R
O
(_U .
Q .
R 1
O 25 B
46 i
©
L 14 . . i
{ 3mon 10day qgay 401 4 10 Mg, 3mid Min 4 py 400 4 gqy 10daY 30,
0 S T Y S S Y Sl A R
-6 -4 -2 0 2 4 6
125 7 I ' I I =0Zmn Tndex="0.82
S ] t=0.86 yr ratio- 280.73
T i
QE’ ]
5 75 -
O |
o ]
@ 50 -
Qo ]
< |
g 25 ] :
1 3mon 1098y qgay 401 4 10 Mg, 3mild Min 4 py 4014 gqy 10day 30, [
0 S T Y S S Y S S EEs
-6 -4 -2 0 2 4 6

6 - Log (t-Teq, y1)

6 + Log (Teqt, Y1)

125

- 100

75

50

25



